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Tree Diagrams
You can-use a tree diagram to organize information.
| -

e 35% of a group of plants prefer the sun. = -
35% .
- 2070 i Did not grow ]
-_

Did not grow

80% of the plants that received sun, grew.
15%

6570 | Ne sun |

[ ]
e 15% of the other plants grew.

Find the following probabilities.
1. P (Sunand Grew) 4 \
B To determine the probability,
= (o. 3;)(‘0.903 = [o-2s8 l multiply the probabilities along
- - each branch.
e o

P(No Sun and Grew)

3.
=(0-es)0.15) = ]o.o‘??f}

3. P(Grew) =P (Sunand Grew) + P (No Sun and Grew)

To combine probabilities
of an outcome, add all the

= 0.28+ 0.0975
favorahle outcomes.
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The following represents the percent of boys and girls in the 10" grade at a school, and
whether they joined the student government club. g

i i Joimad government dub ]1 (0.4SX0-15)=0.067F

' g Did not join government chh-]

' E_rﬂ.fﬂﬂﬂ government cﬁub} (O.5S)o.w0)=0- I

* {Did not join government club |

4.. COmpIe‘te-the tree diagram by fiiling in the blanks.

5. Find P(Girls AND Did_-not join government club)
= (0.5 0.80) = [o:94][ |

6. What is the overall percentage of students who joined the government club?
P( jo med qev c,lu_b) :

= P( Boys AND jomed gev c-luh‘i) + PCQirk AND jomed 9ev club)
— _—
= (0.45X0.1) + (o.s5) 0. zo) 0.0675 + 0.1 =10.1235] or|775%

| The tree diagram shows the percent of bl#e eyed voters and brown- eyed voters that voted for

di ' Gnsen)
2 candidates. [._ es N
| 35%]

| w@mw 35) = 0.2as

65%

| 45%) s
7. P (Blue Eyes AND Candidate B)

= (o_f'sﬂ(o.zs’)‘ =(0.35)* :]o_g‘tzsz_
|

8. What is the overall percentage of voters who voted for candidate A?
P( voted fovr cand AD i

_ P Rloe evjes AND camed A Y + T(Browa Syes ANVD C(and A)

|

(0.350.05) + (Ces)0.55)
= 0.1 + 0.3575 |

[CEES]  or (FB5%]



The tree diagram below shows the percentage of a school’s basketball players who live within
2 miles of school, whether or not they walk to practice, and whether or not they are one of the
5 players in the first string (players who start the game).

a5t
_ 85% [ﬁatk to prar:tIca] <
' 2-35% —
from school _ 5
: = st string

g
60% ® [Do not walk to practice]

0% -
T (walk to Practice} <
o
B

[Do not walk to practice ] <
75% Not first string

9. Explain what the probability of the “?” in the blank on the tree diagram represents.

The 2 represents +he fol(owmt‘_‘

40%

Live > 2 miles
from school

80%

i .t : . 5 7

The probabi liby a player (s First Shring given he or che [rves < 2 miles
?mp scheool a«:}-o‘i afoe-;n"+ wall¢ o ?mw—n?c-

10. Find P(Lives > 2 miles from school AND Walks to practice)

—

= (0.40Y 0.20) = [0.038

11. What is the overall percentage of basketball players who Live < 2 miles from school who
do not walk to practice and are not on the first string?

—

= (0.60)0. IS{)(O‘G() = O0.058S% or M




